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1T | K Lt & = FRAKE 39 39 78 9 69
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F dwm B = MGRA Lz —f 38 39 77 5 72
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B OH B i SAFH X 42 41 83 8 75
iR & = #0 i B 5 49 49 98 23 75
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A NN E = B 2 49 53 102 27 75
43T | A PR = =EA/WL 55 46 101 25 76
1/2

=SEESTILTES




F17TR=ZERT7UOF—N\OT4xeyTINIHE BF HER

10H8H (N) ShA# 708 6,302YARD PAR 72
. SRV —H5T
JIE iz K4 i3 ouT IN Gross HDCP NET
o) = B SAA VX 43 41 84 8 76
A O OE O# AlJ(Lyd 44 43 87 11 76
M = EH—H A)—LAHUR 42 43 85 9 76
B K B X JULAREILX 44 44 88 12 76
48T | #8 SF B X B 46 48 94 17 77
R il AlJqLyd 45 48 93 16 77
i R & B 5 R 43 48 91 14 77
51T | F W & B T #5 B 42 42 84 6 78
7 H 33 % W 43 46 89 11 78
2 )l & 7 AAAEIURI)— 44 49 93 15 78
X &% 8 B B B 38 47 85 7 78
55T | 38 X I# 8% g 50 47 97 18 79
ZF Kk B A 8% g 49 46 95 16 79
AN H A = 44 46 90 11 79
% H B 2 % R 49 53 102 23 79
59 g # E X A—ER 45 40 85 5 80
60T | &8 JIl = N T 53 43 96 15 81
T K B ¥ %2 W 47 46 93 12 81
¥ H 15 8% g 46 49 95 14 81
63 = ® B = T 52 43 95 13 82
64 | & Il ® E 8% g 53 57 110 27 83
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69 R H 7N — & 57 55 112 20 92
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